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001. “Dead slow” jg o

(A) Regulatory e i,
(C) Informatory @’“Wﬂming

002. For rapid Curing Cutbags - |
(A) Gasoline » 1€ o1l used is

~<B) Kerosene
(C) Light diese]
(D) Heavy diesg

(063, 43R1% AN Gy el
(Y (A) ¥eERY X l

©oruag B Yy

AD) eds
@. Coning of wheels

) (A) Prevent-lateral movement of Wheels
(B) Provide smooth running of traing

(C) Avoid excessive wear of inner faces of rail
(DY All the above

oA a0AcA M55t 22 4Q A\

(@) cleclletl ARULHT AMetl URMIRA(R4L
vlede{la B, “wadRAaw

(D) None of these

(1) Rt ois?

(b) aldsuaui aols01edl R 2) St Al ol 2ol
AZl3q] (A3e WAL
(c) ustatell ulEelaa s wie (3) sid @ARay

AU Y312 Andedl?

(d) cecloll URMIHI Bosioll WY (4) AAQA

ARl sl eaicall

AA)d-1,b-3,c-2,a-4
(B) b-2,a-1,d-3,c-4
(C) c-3,d-4,a-1,b-2
(D) a-2,b-3,d-1,c-4

R ——
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006. As per IS-456-2000, span/depth ratio is for

‘31
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(A) Moment criteria iﬁ ,.;:E
oeelle P
/(BT‘ Deflection criteria '%# '%
ool 'ﬁ

i}:ﬁ‘i
oXe
3
» %

(C) Shear criteria

(D) Rotation criteria

007. The centroid of compressive force, from the extreme compression fibre, in
limit state design lies at a distance of

(A) 0.367 Xu (B) 0.416 Xu
(C) 0.446 Xu (D) 0.573 Xu

@8. Change the voice of : “Change the voice.”
af (A) You should change the voice. |
—BJ You can change the voicg.
(C) You are reqliested that ;ou should change the voice.

(D) You are requeéted to change the voice.

009. o{lA WUAA dOUEL AcEe] [Blra3u . -
et -
(A) @Az (B) AW ,:\ix: » i
(C) &l (D) éls3 " " 3
- W
@ [Pof Y3 olti § & ? Z/E’ o
f AJ Information Protocol (B) Intranet Protocol + ;@
| ¢
(C) Internal Protocol (D) Internet Protocol X

@ For 12 mm thick cement plaster (1 : 6), the quantity of cement required is
(A) 0.200 m? _(BY0.247 m’
(C) 0.274 m’ (D) 0.295 m’

012. The volume is measured correct to the nearest

AK) 0.01 cum. (B) 0.02 cum.
(C) 0.03 cum. (D) 0.04 cum.
AEC-A] [3] [P.T.O.
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%At W52 gl AR uA da@ls 1A ustd adlel GReRA

' ?
SMBlA wadzedl diedld e dedl 254l Aot wuciMi w1 8
(A) 3L.20.00 AW

\(BJ 3. 2400 @

(C) 3L, 14.00 AW
(D) 31.10.00 (W

014. The wind rose diagram gives
(A) Direction of wind
(B) Direction and duration of wind

(C) Direction, duration and intensity of wind
(D) None of these

(D) 6d
. The theory of ‘Evolution’ was put forward by

0 (A) Aristotle

AB) Louis Pasteur
(C) Gregor Mendel (D) Charles Darwin

017. The value of standard load at 2 5 mm penetration is
(A) 13.44 kN (B) 20.16 kN

(C) 7.5kN (D) 10.08 kN

5(d Guigis? ‘Qaun o1 Qedd Sle2l gLl etl 29 WD) B ?

(A) Hstclcial —B) ualcrgAl
(C) uyYnaA &) [QuaiQA

019. Desire lines are plottéd in
(A) Speed studies
(B) Traffic volume studies
(C) Accident studies

(D) Origin and destination studies

AEC-A] [4] [Contd...
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0) Fill in the blank :
Mr. Banerjee became

(A) a
(B) an

<€) the

(D) article should not be used

@ Stocks rail are fitted

—(A) near tongue rails =XB) near check rails
(C) against tongue rails (D) against check rails

— Principal of the college in 1965.

022. The station where lines from three or more directions meet is called

(A) Crossing station
(B) Flag station

(C) Junction station
(D) Terminal station

ollA VNA Alselell WEAELRAL UELR RUAL
UL Udledl sle 8.

(A) GunL >(B) gl
(G ¥etot BT s

024. The neutral axis of a T-beam exists

LA) Within the flange
(B) At the bottom edge of the slab
(C) Below the slab

- (D) All the above

025. welled cdlgsl oAt A%AAL 5L (BectMi 1A B ?

(A) dunsle JB) ugie
(C) El8le (D) asler
026. A fillet weld may be termed as
(A) Mitre weld (B) Concave weld
AC) Convex weld (D) All the above

Downloaded from www.marugujarat.in
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027. The brick work is measured in m?, if the thickness of wall is

AA) 10 cm (B) 15 cm
(€) 20 cm (D) All the above

028. ARABIR HIKHe] oHUN U
4 (A) ¥rd (B) CACHULS
j (C) aele (D) ™3

| 029. The total cost of the project js

(A) Direct cost and outage of project (B) Direct cost and overhead
(C) Direct cost and indirect cost (D) None of these

e B s1Hi cney oue el 3yebefladl wd dusl wuud AHA Bogretiotaii

A suie egag UAA A 243efl QA souell. vy QuiBle 5L olti]

URe &2y gy 9

(A) dlau QuiRey

BT Awdsineu Qu Ry
(C) el 2ul3st01 ARy

) RQatadean QuRey
031. Which of the following three R’s are re
(A) Reduce, Reuse and Recycle
(B) Read, Register and Reclas;s-
(C) Random, Reuse and Recall
(D) Reduce, Rebuilt and Restrict

garded environment friendly ?

032. If a body of mass m is moving with velocity v, the kinetic energy stored by
the body will be - :

(A) mv¥/g (B) mv¥/2g Y
(C) mv*/2 (D) my?
B

033. snzjerq ol sral w2 sl @scud uiie 5290 2
(A) Log off Computer
(B) Switch off Computer
—«C) Turn off Computer
(D) Restart off Computer

AEC-A] [6] s

Downloaded from www.marugujarat.in



. . .
www.marugujarat.in

034. The black cotton soil 25:::?:%:%::
(A) Undergoes volumetric changes 5&:’?':;:;:
(B) Swells excessively when wet ':!‘f: '*':"‘:f’.::?
(C) Shrinks excessively when dry | :i:i:i:i:i

_(D) All the above ¥
Similar word of ‘Beautify’
(A) Adom (B) Ugly
LGy Spoil (D) Clearify
036. A fluid which obeys the Newton’s law of viscosity is known as
(A) Real fluid
(B) Ideal fluid
(C) Newtonian fluid
. (D) Non-Newtonian fiuid
037. pH value of fresh sewage is
(A) equal to 7 (B) more than 7
(C) less than 7 (D) equal to zero
038. oA wuct cwsaniell Wit ueyca bl @scuniall i yeit weudl
Bretoll caxtell Geuctan otell
—(A) (B)
(C) -l (D) GuAsdt (B) v (C) v
039. Filtration of water is done to remove
(A) color (B) odour
(C) turbidity (D) pathogenic bacteria
040. [Qad Q20 Rsic sl dsuAd w2l ?
&) AN (B) Al
(C) wiéd (D) ¥
The most widely used pump for lifting sewage is
(A) Centrifugal pump /(§) Reciprocating pump
(C) Pneumatic ejector Ll;) Air pressure pump
[P.T.O.

AEC-A] 17]
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042. The best instrument for measuring the velocity of a stream flow is

(A) Pitot tube

(B) Price’s current meter
(C) Surface float

(D) Sub-surface float

@. WA UER A YT Yeoflof) Aattell B 21 520 5lof & ?

(B) HojoueS byl
(D) opa1dAn €q

@ Milestone charts were invented In the year of
(A) 1920

(C) 1940

(C) autlly

045. 60 (5.{l./scusell 35 AUAAL A5 2ot
A gotell coue Yol 2

(A) 60 {23
B) 10 _
(C) 36 {23 (B) 100 le? W0 —i (O

(D) 600 e? . G

Rt 6 Asesui uniz 5 &,

046, it} : \
The critical path lies along the activities having total float éwd 'S
(A) Positive

<€) Zero (D) Same
047. The effective size of soil is :

-LA) DIU (B) D:g

(C) DJG (D) D4U

J@ QAR UER QLR AHIY A%UML s 1R ol %) 9l e (GDCR)
U Us 2atet @0 erd) sl Rl Qe wued B, . GDCR 4 D 2

(A) General Development Control Reforms

7887 General Development Control Regulations
C) General Development Control Rules

(D) General Development Controlling Regulations

@. When the plasticity index of soil is zero, the soil 1s ot ‘j’_;;: |

(A) Clay (B) Silt i
(C) Sand | (D) Silty sand
AEC-A] [8] [Contd...
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W
@ e (BEeui Aadl UEl 52611 ARl WA Azuiet HlaL D ?
(A) CULAL WHRALY —B) (Qof HisS
(C) Wl Gudlar (D) Al 3. sy
051. The impact strength of material is an index of its
(AY Toughness (B) Tensile strength
(C) Fatigue strength (D) Hardness

052. The summation of distribution factor on any joint of beam 1S

(A) O (B) 1
(C) 2 (D) 0.5

053. 3@yt udl k.
sl cuzsl g
(A) etott 2L sl GuAL(l ad

(B) &lal a2 sl Aual <

(C) cuzst GUR &l AWAL X

(D) etiett Ml sl GuAL(l o ag
Cv -

054. Coefficient of velocity is the ratio of
\_(Af Actual velocity of jet at vena contracta to the theoretical velocity
(B) Area of jet at vena contracta to the area of orifice

(C) Actual discharge through an orifice to the theoretical discharge

(D) None of these

Fillin the blank :

the baby is asleep.
(A) Hush! < (B) Hello!
ﬁo}'Hurrah ! L (D) Bravo!
056. The factors affecting per capita demand 1s
(A) Size of city (B) Climate condition
(C) Pressure in water mains (D) All the above
AEC-A] 9] (P.T.O.
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057. Alum is

(A) Coagulant (B) Floc.:ulant
(C) Catalyst (D) Disinfectant
058. ol Ut g€l L WAL
A5
(A) deyay (B) oiedlR3
'(9 W cloya (D) Gog

(B) Height
(D) Rainfall
> @ World Architectyre Day g3 yoyiq

(A) AR 1Roye e TOCTE
~B) AWsAeR Qe Yy

(C) A0sAoo H[Boio oo
D) Ao M@ottoll Yoy

@ In Sarda type fall, rectangy]

dr crest 1s used for discharge upto
\/(}r)/ > cumec

(B) 10 cumec
(C) 14 cumec (D) 20 cumec

UMl WA B 7
FUGIE

d3aR
AR

062. A dummy activity

(é) 1s artificially introduced (B) is represented by dotted line
(C) does not consume time @)_all the above
063. auna Wetiott st 56 cltenet W2 Ywud aded 7
(A) Gt (B) cauvuet
(C) AQsald (D) uacucl
064. The modulus of elasticity of concrete (Ec) =
12 -(B) 5000 (f,)"
(A) 2000 (f,) : 30 IR0 P
f 12 ck
b | [Contd..
AECA o [Coe.
AEC-A]
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065. (AoSloell 335U GuR 9 A& AL D ?
(A) S5 (B) 3cs?

) W5 (D) wUA cAMIM

066. Plate loading test is of

(A) Short duration

(B) Long duration
(C) Medium duration

s = \
(D) Very lon.g duration U 3
067. The critical gradient of the seepage of water 15 of soil.
(A) Directly proportional to void ratio o g0
B) Increase with decrease in void ratio -
(C) Inversely proportional to specific gravity -
(D) Increase with decrease in specific gravity = (G
' .
aRcl Reutd wlsgen ol aiads wu Wiiet A, A ‘Kl (Bt bl ,
]6x2—40x+K2_] =0,.. K= I 25— Woe™t .
GSoO > n L~ WO 2 +'2-k‘ =
(A) 51 «B) 49
(C) 50 | D) 25 >
1 .
069. Which of the following is not a Zone ? : ]
(A) Residential (B) Commercial —
(C) Industrial (®) Electrical e 1{ W 4
070. Fill in the blank : 3€ 0
Hari works of the three of us.
(A) much : ‘(_B) more
(C) most (D) little
071. Greenhouse gases which present in very high quantity 1S
(A) Propane (B) Ethane
(9- Carbon dioxide (D) Methane
- AEC-A] [11] (P.T.0.
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072. Quick lime

(A) Generates heat when added to water
(B) May be used for white-washing
(C) Reacts with carbon dioxide

D) All the above

073. ol e cyseelt BE s oIl
M B1Q ellorell 21014l s@la HI%9 Ul 14l &
(A) udy -- ‘_@”ﬁr’w b
(€) Awe (D) Rl o

074. The ultimate

(A) C.S
C
(C) C,A oty

(D) C,AF

strength in cement is dye to

L g sl %R UBUAL 52 Hl W d "
! . l l

©) @l BT il

_‘@ The X-ray rooms are "p]astered with
(A) Plaster of Paris

. (B) Barium plaster
(C) Martin’s plaster 4D) Keen’s plaster

077. In Queen post truss

vertically posts are used.
(A) Two (B) Three 4
<€) Four (D) Six |
078. [ 3],
JIRINE
(A) Y@ + 2 _ B) Ytu+ (A3
Q(C) a_g[ﬂ + RAR (D) du+ R

079. Which of the following indicates the value of D, when base of object is

accessible ? =.b-
(A) s/tanox (B) tanoUs hoet D 5
(C) tanovh (D) h/tanc

AEC-A] [12] [Contd...
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Al atttett Asu@Y o AR sieay ?

W (A) & (50 \,(4{) Y (Suw) (320
(C) a (320 (D) BBzel
081. What is the value of additive constant in anallatic lens 7
(A) 100 - (B) 0.3
(© 0 (D) 1.15

082. GIS application used for
(A) Surveying and mapping

e ———
(B) Natural resource management

(C) Environment impact study
(D) All the above ‘

uriel. (a‘l?t'ﬂ B (Eb;t&d o[ [Qs1d Ao sl HEEL Sletion Al%¥el w2
[QQUEL ﬁmﬁlﬂl U ELR AL ;gour[l s 2uas ecll 81l w6l Adl RASA ?

(A) 3L.3].M0 AW S 3L 3.0 cn
2T 3.3.00 (D) 3L.¥.00 G

084. For perfect truss, member is
“SHA) m=2]—T
(B) m<2j—r
(C) m>2j—r
(D) m=2;

@. uRlledl alteadis sl sl B ?
(A) 1.50 —BY 1.77
(C) 1.47 (D) 1.33

086. Building planning, regulation and service code is
(A) 1S-456-2000
(B) 1S-1893-2002
(C) 1S-800-2007
(Dy-SP-7(2005)-NBC
AEC-A] [13] [P.T.O.
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08y. Which of the following is a biodegradable waste ?

X&) Wool ~ (B) Nylon
(C) Plastics (D) Polythene bags
struduts AAcct slAuaRe e AL
(A) wBAaus (B) A As
(C) Acstuusl (D) suSanou
089. The initial setting time of rapid hardening cement should not be less than
~«A) 30 min, (B) 1 hour
(C) 2 hours (D) 4 hours

09 '
O 103RA As 2eclle] s 6 Razayi 54 9 8. ol 15 QR A el
B Becu Rawni 54 9

AA) 4 Ray (B) 5 [& e
Ay =
(C) 3 Ray ) {'j_,_"_."
0 (D) 2 Ray \5
91. Wh; on i ’
Which foundatlon 1S better Suitable for black cotton so1] ? g

(A) Raft foundation
(B) Strip footing

LC) Updpr reamed pile
(D) Column footing

. The minimum strength of the mortar used in load bea

ring brick masonry is
(A) 50 N/cm?

£B) 100 N/cm?
(C) 150 N/cm? (D) 200 N/cm?
093. Which of the following is not scalar quantity ?
(A) Time (B) Mass -
(C) Area (D) Velocity
094. The concrete slump recommended for foundation is
(A) 25to 50 mm JB) 50 to 100 mm
(C) 30to 125 mm (D) 7510125 mm
AEC-A] [14] [Contd...
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AR e
HWHE Wl Y o
LM flug opzq éﬁm QAN Y13 ogq u--%-?'?%l
(A) 3R ys | y & .,.E.} :
(C) Rdiqys (B) Sqaiys gi{%&%
I D)o us :%‘:,%‘,%..ﬁ..i.
096- N Which directiol.] ] . ' | .:5":;:“:5..."‘!
atitude of line i : 14
(A) North NE 1s negative ? b
(C) East J(vg; i:mth
st

097. Which of the following survey have mor
(A) Plane Table Survey

(B) Chain Survey

(C) Compass Survey
AD) Total Station

Caccuracy ?

| 098. @._5 SL{MUA U B sctl il 235Ul B, o Aou 1ol A 50y 24 @ i
| Y3 5 B, LA A AsetA A siM Y3 secll dectl Re cdldL 27

(A) 30 @ » ‘ 1
|
, (C) 36 (D) 72 & < Lupk v Ba
. B — | *g L L
099. In total station, ATR means — . -
R _ Byt TD
(A) Automatic Travel Reading
(B) Advance Target Reading Py

(C) Automatic Target Recognition
D) Automatic Target Reading

100. ol wUAA HIEL AUsAA AScll 0 qAlws Bl
Ascz UAA B2l Al Al Alele WA QL cdAuani ogtel Q.

LA A2, B (B) g, uel
(C) BH, X ) FU FH, AH AX

-_——
AEC-A ] [15) [P.T.O.
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